[ Efficiency vs vertpos |

0.4

20.09
4
20.08
(8]
§0.07
[
£0.06
0.05
0.04
0.03
0.02
0.0

&

1.0

Ratio

0.950

1072

Efficiend

—— DM V000 RO0000000T —Giua —TTRET 0000 _RECO
—_— B MWOOO :EOOOOOOOO%:G opal—m EI %OOOK?'_RECO RE
= BMV001-RA0000000T—Globa— MK ENTa00 Hme—RERS
—— DOM~V0001~"R000000001—Global—mkFit1000MTime _RECO

~ 0.5
20.45
n

> 04
>

2
$0.35
0.3

0.25]
0.2

...........

ettici

...........

0.15
0.1
0.05
Vel

...........

..................
..................

..................

'ﬁqﬂ'&*f »““’ +

.................

e e A L R L PR P

Ratio
|dllll TTTT

0.95!

[ Efficiency vs. sim PV z |

10

20 30
TP vert z (cm)

~ 0.1

>
2 0.09

£
= 0,08

-

108 6 -4-20 2 4 6 8 10

Sim. PV z (cm)




	Contents
	Page 1


